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Here starts the actual test

=4 1

ANES 2012 A|H|E A2 S anes2f1l Sh= RO| K| 2 X{ot2t
library(ezpickr)

library(tidyverse)

anes <- pick("anes_timeseries_2012_statal2.dta")
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table (anes$pid_x)
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anes <- anes %>%
mutate (
case_when(
pid x == -2L | pid_x == 4L ~ NA_integer_,
# -2 FEE 3 EEHHE, 4= FE}l (independents)
pid_x < 4L ~ 1L,
T ~ OL
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# Wxp =0l
table(anes$pid_x, anes$pid_x_dum)
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table (anes$dem_edu)
class(anes$dem_edu) # double, = A} HHZ=2l
anes <- anes %>%
mutate (
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ifelse(anes$dem_edu == -9 | anes$dem_edu == 95, NA, anes$dem_edu)
)

table(anes$dem_edu_re)
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anes %>%

t.test(dem_edu_re ~ pid_x_dum, . TRUE)
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class(anes$dem_edu_re)

table(anes$dem_edu_re)
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ifelse(pid_x == -2 | pid_x == 4, NA, pid_x)
)

table (anes$pid_x_con)
library(rstatix)

anes %>%
anova_test(dem_edu_re ~ pid_x_con)
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qog <- pick("http://www.qogdata.pol.gu.se/data/qog_std_ts_jan20.dta")
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qog_small <- qog %>%
select(ccode, cname, year, ucdp_type2, ht_region)

table(qog_small$ht_region)

qog_agg <- qog %>%
group_by (ht_region, year) %>%
summarize (
sum(ucdp_type2, T
) %>% mutate(
case_when(

sum.intlconflict == OL ~ 1L,
sum.intlconflict == 1L ~ 2L,
T ~ 3L

head(qog_agg)
glimpse(qog_agg)
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table(qog_agg$intl.conflict, qog_agg$ht_region)



model.region.conflict <-
xtabs( ~ ht_region + intl.conflict, qog_agg)

Chisq <- chisq.test(model.region.conflict)

Chisq
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